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TE (i) FEATE HEr & 99 d @ Rt uig & ser A
Note : Question No. 1 is compulsory, answer any five questions fiom the remaining.
(i) T4 997 & G 97T @) BHER v e g H |
Solve all parts of a question consecutively together.
(iii) WWE‘:’??@‘W@WWF
Start each question on a fresh page.
(iv) ST 9IS 3 S 17 1 Ry 7 o7t a8 A &

Only English version is valid in case o difference in both the laneuaces.
. )i gudag

L. () wicerd wieea & o =7 woem §92 gu=ns |

What do you understand by percentage reactance ? Explain,

(i) TIARH. TSt F S fafaw |

Write applications of H.R.C. fuse.
(iii) SF, 9Ruw fagisiss % oy fafaw |

Write advantages of SF, circuit breaker.
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(iv) fordet e vomedt o fort et 1 e T =R 0
Which facts are to be taken into account in differential protection scheme ?
(v) 1Y Fieedr & R 9y |

Explain causes of over voltage. (2x5)

| P.T.O.
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2. (i) il % ST T g BT |
Descr_ibe characteristics of Reactors.
(i) Ueh Torebett SifeRT o o7 Uh 1@ Tot e URTOd € | Yo Si-a T Wirera S 3-eh!
T ! &7 W Seettad € | foeg F O ueh s o7y ooy B9 W varfed B At oy
gi{ger gRT &1 91 iy |

A single line diagram of a 3-phase power system is shown below. The
percentage reactance of each alternator is based on its own capacity. Find the

short circuit current that will flow into a 3-phase short circuit at point F. (6x2)
15000 kVA 20000 kVA |
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() AT 2w gaged g FwfEl+a+al=0:
Explain operator ‘a’. Prove that 1 +a +a’ = 0.
(i) -~ TRIST Wl S T TR MUY foRaT ST € 2 weemsd |

How the fuse material is selected ? Explain. (6x2)

4. (1) iy T | o faamT o gueEd |
Explain arc¢ extinction in circuit breaker.
(i) =g o gy foaivh &t s 9 w1 faeia 1 av s |

Describe construction and working principle of air break circuit breaker. (6x2)

5. (i) fafr= g et 1 detw & gy |
Explain various distance relays brietly.
(ii) et B HonT STavahaTsi ST Gl HIT |

Describe basic requirements of a Relay. (6x2)

6. (i) oiost et &1 Gfad guig ST |
Describe Buchholz relay with diagram.
(i) ek S % T&I07 % feAT STy uomed! auensd |

Explain overcurrent protection scheme of a generator. (6x2)
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7. (1) o= o WREen € e N g 3 N atea Frivet % st fagia w5 avls ST |

Describe the working principle of Horn Gap and Rod Gap type li ghfning arrestor
with the help of neat diagram.

(i) ToHaTR® G99 O ATUH F47 A § 2 T |

What do you understand by insulation coordination ? Explain. (6x2)

8. e @) e i ooyt fefae

Write short notes on any two :
(1) YR = He
Current Chopping
(i) gt o v
Translay Protection system
(i) =i e
Static Relay (6x2)
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